Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.

Serdica

Bulgariacae mathematicae publicationes

Сердика

Българско математическо списание

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints. Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on
Serdica Bulgaricae Mathematicae Publicationes
and its new series Serdica Mathematical Journal
visit the website of the journal http://www.math.bas.bg/~serdica
or contact: Editorial Office
Serdica Mathematical Journal
Institute of Mathematics and Informatics
Bulgarian Academy of Sciences
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49
e-mail: serdica@math.bas.bg

ON THE EXTREME AND L² DISCREPANCIES OF SYMMETRIC FINITE SEQUENCES

PETKO D. PROINOV

In the present paper we obtain estimates for the extreme and L^2 discrepancies of any symmetric finite sequence of points in s-dimensional unit cube $E^s=[0,1]s$. Our estimate for the L^2 discrepancy of symmetric sequences is an analogue of Erdős-Turán-Koksma's inequality. The estimate for the extreme discrepancy of symmetric sequences in the case s=1 coincides with LeVeque's inequality.

1. Introduction. Let $s \ge 1$ and let E^s denotes the unit cube consisting of points $x = (x_1, \ldots, x_s)$ with $0 \le x_j \le 1$ $(j = 1, \ldots, s)$. Let $X = \{a_k\}_{k=1}^N$ be a finite sequence of points in E^s . For every $\gamma = (\gamma_1, \ldots, \gamma_s)$ in E^s we write $A(X; \gamma)$ for the number of terms of X lying in the box $0 \le x_j < \gamma_j$ $(j = 1, \ldots, s)$ and put $D(X; \gamma) = N^{-1}A(X; \gamma) - \gamma_1 \ldots \gamma_s$. The numbers

$$D(X) = \sup_{\gamma \in E^{S}} |D(X; \gamma)|$$
 and $T(X) = (\int_{E^{S}} |D(X; \gamma)|^{2} d\gamma)^{1/2}$

are called the extreme and L^2 discrepancies of X, respectively.

We shall make use of the following notations:

For every integer m we write $m = \max(1, |m|)$.

For every lattice point $m = (m_1, \ldots, m_s)$ in Z^s we define

$$||m|| = \max_{1 \le j \le s} |m_j|$$
 and $R(m) = m_1 \dots m_s$

For $\alpha = (\alpha_1, \ldots, \alpha_s)$ and $\beta = (\beta_1, \ldots, \beta_s)$ in \mathbb{R}^s , let $\langle \alpha, \beta \rangle$ denote the standard inner product, that is $\langle \alpha, \beta \rangle = \alpha_1 \beta_1 + \ldots + \alpha_s \beta_s$.

It is well known that for any finite sequence $X = \{a_k\}_{k=1}^N$ in E^s and any natural number n we have

(1)
$$D(X) \leq c(s) \left(\frac{1}{n} + \sum_{0 < ||m|| \leq n} (R(m))^{-2} \left| \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i \langle m, a_k \rangle} \right| \right),$$

where c(s)>0 is an absolute constant depending only on the dimension s. It is also well known that in the case s=1 the discrepancy $D(\lambda)$ of any finite sequence $X=\{a_k\}_{k=1}^N$ in E=[0,1] satisfies

(2)
$$D(X) \leq \left(\frac{6}{\pi^2} \sum_{m=1}^{\infty} \frac{1}{m^2} \left| \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i m a_k} \right|^2\right)^{1/3}.$$

Inequalities (1) and (2) are called Erdös-Turán-Koksma's inequality (see [1], p. 116) and LeVeque's inequality (see [1], p. 111), respectively.

SERDICA Bulgaricae mathematicae publicationes. Vol. 10, 1984, p. 376-383.

In the present paper we obtain an inequality (see Theorem 2) for the L^2 discrepancy of the so-called symmetric finite sequences in E^s which is an analogue of Erdös-Turán-Koksma's inequality. For the extreme discrepancy of the symmetric finite sequences in E^s we obtain an inequality (see Theorem 3) which in the case s=1 coincides with LeVeque's inequality.

2. Symmetric finite sequences. Let $X = \{a_k\}_{k=1}^N$ be a finite sequences in E^s . We shall say that a given point $x = (x_1, \ldots, x_s)$ in E^s has a multiplicity $p(0 \le p \le s)$ with respect to the sequence X if exactly p terms of X coincide with the point x. We call the sequence X a symmetric one if for any point $x = (x_1, \ldots, x_s)$ in E^s all points of the type

(3)
$$(\tau_1 + (-1)^{\tau_1} x_1, \ldots, \tau_s + (-1)^{\tau_s} x_s)$$

have one and the same multiplicity with respect to X, when τ_1, \ldots, τ_s take independently the values 0 and 1.

It is obvious that if a sequence X in E^s is symmetric then any other sequence Y in E^s originating from X by means of a transposition of its terms, is also symmetric.

Let X be a finite sequence consisting of N points in E^s and let \widetilde{X} be a symmetric sequence, consisting of $M=2^sN$ points in E^s . We say that the symmetric sequence \widetilde{X} is produced by the sequence X if for every point $x=(x_1,\ldots,x_s)$ in E^s the following is valid: if a point x is a term of the sequence X, then each point of type (3) is a term of the sequence \widetilde{X} , where τ_1,\ldots,τ_s take the values 0 and 1.

Apparently, each sequence X in E^s produces at least one symmetric sequence \tilde{X} in E^s . The inverse, of course, is true, too: if \tilde{X} is a symmetric sequence, consisting of M points in E^s and if $M = 0 \pmod{2^s}$ then there exists at least one sequence X in E^s which produces the sequence \tilde{X} .

at least one sequence X in E^s which produces the sequence \tilde{X} .

3. Estimates for the L^2 discrepancy of symmetric finite sequences. Theorem 1. Let \tilde{X} be a symmetric finite sequence, consisting of $M=2^sN$ terms in E^s and let $X=\{\alpha_k\}_{k=1}^N$ be any finite sequence in E^s producing \tilde{X} . Then

(4)
$$T(\tilde{X}) \leq (c(s) \sum_{\|m\| > 0} (R(m))^{-2} \left| \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i \langle m, a_k \rangle} \right|^2)^{1/2},$$

where

(5)
$$c(s) = (3/4\pi^2)(1-2^{-s+1}+3^{-s}).$$

Proof. Let $X = \{a_k\}_{k=1}^N$ be a given sequence in E^s , and let $\widetilde{X} = \{b_k\}_{k=1}^N$, where $M = 2^s N$, be a symmetric sequence in E^s which is produced by X. We put

(6)
$$a_k = (\xi_1(k), \ldots, \xi_s(k)), k = 1, \ldots, N.$$

For $\gamma = (\gamma_1, \ldots, \gamma_s)$ in E^s , let $\varphi_{\gamma}(x) = \varphi_{\gamma}(x_1, \ldots, x_s)$ be the characteristic function of the box $0 \le x_j < \gamma_j$ $(j = 1, \ldots, s)$. Then

$$A(\widetilde{X}; \gamma) = \sum_{k=1}^{N} \varphi_{\gamma}(b_{k}) = \sum_{k=1}^{N} \sum_{\tau_{1}, \ldots, \tau_{s}=0}^{1} \varphi_{\gamma}(\tau_{1} + (-1)^{\tau_{1}}\xi_{1}(k), \ldots, \tau_{s} + (-1)^{\tau_{s}}\xi_{s}(k)).$$

378 T. D. PROINOV

Therefore

(7)
$$D(\widetilde{X}; \gamma) = \frac{1}{2^{s_N}} \sum_{k=1}^{N} \sum_{\tau_1, \ldots, \tau_s=0}^{1} \varphi_{\gamma}(\alpha_1(k), \ldots, \alpha_s(k)) - \gamma_1 \ldots \gamma_s$$

where, for brevity, we have put $\alpha_j(k) = \tau_j + (-1)^{\tau_j} \xi_j(k)$, $j = 1, \ldots, s$.

The function $D(\gamma_1, \ldots, \gamma_s) = D(\tilde{X}; \gamma)$ is a piecewise continuous function in E^s . Let

$$\sum_{m_1,\ldots,m_s=-\infty}^{\infty} c(m_1,\ldots,m_s)e^{2\pi i(m_1\gamma_1+\ldots+m_s\gamma_s)}$$

be the Fourier series of $D(\gamma_1, \ldots, \gamma_s)$. It is well known that the Fourier coefficients are given by

(8)
$$c(m_1,\ldots,m_s)=\int_{FS}D(\gamma_1,\ldots,\gamma_s)\,e^{-2\pi i(m_1\gamma_1+\ldots+m_s\gamma_s)}d\gamma_1\ldots d\gamma_s.$$

From (7) and (8) it follows that

(9)
$$c(m_{1}, \ldots, m_{s}) = \frac{1}{N2^{s}} \sum_{k=1}^{N} \sum_{\tau_{1}, \ldots, \tau_{s}=0}^{1} \prod_{j=1}^{s} \int_{\alpha_{j}(k)}^{1} e^{-2\pi i m_{j} \gamma_{j}} d\gamma_{j}$$
$$- \prod_{j=1}^{s} \int_{0}^{1} \gamma_{j} e^{-2\pi i m_{j} \gamma_{j}} d\gamma_{j}$$
$$= \frac{1}{N2^{s}} \sum_{k=1}^{N} \prod_{j=1}^{s} \sum_{\tau_{i}=0}^{1} A(m_{j}, \alpha_{j}(k)) - \prod_{j=1}^{s} B(m_{j}),$$

where we use the following notations

$$A(m, a) = \int_a^1 e^{-2\pi i m \gamma} d\gamma$$
 $B(m) = \int_0^1 \gamma e^{-2\pi i m \gamma} d\gamma$.

For every real number a and every integer m we have

(10)
$$A(m, a) = \begin{cases} (1/2\pi i m)(e^{-2\pi i m a} - 1), & \text{if } m \neq 0; \\ 1 - a, & \text{if } m = 0; \end{cases}$$

and

(11)
$$B(m) = \begin{cases} -1/2\pi i m, & \text{if } m \neq 0; \\ 1/2, & \text{if } m = 0. \end{cases}$$

We verify immediately that

(12)
$$\sum_{\substack{\tau_{f}=0\\ \text{Ty}=0}}^{1} A(0, \alpha_{f}(k)) = 1.$$
By (9), (11) and (12) we obtain
$$c(0, \ldots, 0) = \frac{1}{N2^{s}} \sum_{k=1}^{N} 1 - \frac{1}{2^{s}} = 0.$$

Then by Parseval's identity we have

(13)
$$(T(\widetilde{X}))^2 = \int_{E^S} |D(\gamma_1, \ldots, \gamma_s)|^2 d\gamma_1 \ldots d\gamma_s$$

$$= \sum_{\substack{m_1, \ldots, m_s = -\infty}}^{\infty} |c(m_1, \ldots, m_s)|^2 = \sum_{\substack{m_1, \ldots, m_s = -\infty}}^{\infty} |c(m_1, \ldots, m_s)|^2,$$

where Σ' means that $(m_1, \ldots, m_s) \neq (0, \ldots, 0)$.

Let p be a natural number with $1 \le p \le s$ and let $\{j_1, \ldots, j_p\}$ be an arbitrary subset of the set $\{1, 2, \ldots, s\}$. We shall introduce the notation

$$\sigma(j_1,\ldots,j_p) = \sum_{m_1,\ldots,m_s=-\infty}^{\infty} c(m_1,\ldots,m_s)|^2,$$

where the sum Σ^* is over (m_1,\ldots,m_s) in \mathbf{Z}^s with $m_j{\pm}0$ $(1{\le}j{\le}s)$ if and only if j coincides with any of the numbers j_1,\ldots,j_p . It is easy to see that formula (13) can be written in the form

$$(14) (T(\widetilde{X}))^2 = \sum_{p=1}^s \sum_{j_1, \dots, j_p} \sigma(j_1, \dots, j_p),$$

where the inner sum is over $\{j_1,\ldots,j_p\}\subset\{1,2,\ldots s\}$. Now let p be again a given natural number with $1\leq p\leq s$ and let $\{j_1,\ldots,j_p\}$ be a given subset of $\{1,2,\ldots,s\}$. We shall obtain an estimate for the sum $\sigma(j_1,\ldots,j_p)$ From lower exposition, it will become clear that, without any loss of generality, we can assume that $\{j_1,\ldots,j_p\}$ coincides with $\{1,2,\ldots,j_p\}$ with $\{1, 2, ..., p\}$. Let us suppose that $\{j_1, ..., j_p\} = \{1, 2, ..., p\}$. Then

(15)
$$\sigma(j_1,\ldots,j_p) = \sum_{\substack{m_1,\ldots,m_p = -\infty\\ m_1 \neq 0,\ldots,m_p \neq 0}}^{\infty} |c(m_1,\ldots,m_p,0,\ldots,0)|^2.$$

Let $m_1 \neq 0, \ldots, m_p \neq 0 \ (1 \leq p \leq s)$. Then from (9), (11) and (12) we obtain

(16)
$$c(m_1, \ldots, m_p, 0, \ldots, 0) = \frac{1}{N^{2s}} \cdot \frac{1}{(2\pi i)^p} \cdot \frac{1}{m_1 \ldots m_p} \sum_{k=1}^{N} \prod_{j=1}^{p} \sum_{\tau_j=0}^{1} \left(e^{-2\pi i m_j a_j(k)} - 1 \right) - \frac{(-1)^p}{(2\pi i)^p} \frac{1}{2^{s-p}} \frac{1}{m_1 \ldots m_p}.$$

We make the following transformations

(17)
$$\prod_{j=1}^{p} \sum_{\tau_{j}=0}^{1} (e^{-2\pi i m_{j} a_{j}(k)} - 1) = \prod_{j=1}^{p} (e^{2\pi i m_{j} \xi_{j}(k)} + e^{-2\pi i m_{j} \xi_{j}(k)} - 2)$$

$$= \sum_{\epsilon_{1}, \ldots, \epsilon_{p}} \beta(\epsilon_{1}, \ldots, \epsilon_{p}) e^{2\pi i (\epsilon_{1} m_{1} \xi_{1}(k) + \ldots + \epsilon_{p} m_{p} \xi_{p}(k))},$$

where the sum is over $\varepsilon_1, \ldots, \varepsilon_p$ which take the values 0, -1 and 1 (their number is 3^p).

It is easily seen, that

(18)
$$\beta(0,\ldots,0) = (-1)^{p}2^{p}$$

T. D. PROINOV 380

and

(19)
$$|\beta(\varepsilon_1,\ldots,\varepsilon_p)| \leq 2^{p-1}$$
 for $(\varepsilon_1,\ldots,\varepsilon_p) \neq (0,\ldots,0)$.

Now, using (18), from (16) and (17) we conclude that

(20)
$$c(m_1, \ldots, m_p, 0, \ldots, 0)$$

$$= \frac{1}{2^s} \cdot \frac{1}{(2\pi i)^p} \cdot \frac{1}{m_1 \cdot \ldots \cdot m_p} \sum_{\epsilon_1, \ldots, \epsilon_p} \beta(\epsilon_1, \ldots, \epsilon_p) S(\epsilon_1 m_1, \ldots, \epsilon_p m_p, 0, \ldots, 0),$$

where Σ' means that $(\varepsilon_1, \ldots, \varepsilon_p) \neq (0, \ldots, 0)$ and where for a lattice point $m = (m_1, \ldots, m_s)$ in \mathbb{Z}^s we use the notation

(21)
$$S(m_1, \ldots, m_s) = \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i \langle m, a_k \rangle} = \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i (m_1 \xi_1(k) + \cdots + m_s \xi_s(k))}.$$

From (20) and (19) we obtain the estimate

$$|c(m_1,\ldots,m_p,0,\ldots,0)| \leq \frac{1}{2^{s+1}\overline{\pi}^p} \sum_{\epsilon_1,\ldots,\epsilon_p} \frac{|S(\epsilon_1 m_1,\ldots,\epsilon_p m_p,0,\ldots,0)|}{m_1\ldots m_p}.$$

From the latter estimate and the well–known inequality $(\sum_{j=1}^n u_j)^2 \le n \sum_{j=1}^n u_j^2$ we find

$$|c(m_1,\ldots,m_p,0,\ldots,0)|^2 \leq \frac{3^{p-1}}{4^{s+1}\pi^{2p}} \sum_{\epsilon_1,\ldots,\epsilon_p} \frac{|S(\epsilon_1 m_1,\ldots,\epsilon_p m_p,0,\ldots,0)|^2}{(m_1\ldots m_p)^2}.$$

From that inequality and from (15) we get

From that inequality and from (15) we get
$$(22) \quad \sigma(j_1,\ldots,j_p) \leq \frac{3p-1}{4^{s+1}\pi^{2p}} \sum_{\substack{\epsilon_1,\ldots,\epsilon_p \\ m_1 \neq 0,\ldots,m_p \neq 0}}^{\sum} \sum_{\substack{m_1,\ldots,m_p = -\infty \\ m_1 \neq 0,\ldots,m_p \neq 0}}^{\infty} \frac{|S(\epsilon_1 m_1,\ldots,\epsilon_p m_{p_0},0,\ldots,0)|^2}{(m_1\ldots m_p)^2}.$$

Let us consider the inner sum of that inequality with fixed $\varepsilon_1, \ldots, \varepsilon_p$ and denote it by $\Omega(\varepsilon_1, \ldots, \varepsilon_p)$. Let $q(1 \le q \le p)$ be the number of those ε_j $(j=1,\ldots,s)$ which are not equal to zero. With no loss of generality we can assume that $\varepsilon_1 \neq 0, \ldots, \varepsilon_q \neq 0$. Then

$$\Omega(\varepsilon_{1}, \ldots, \varepsilon_{p}) = \sum_{\substack{m_{1}, \ldots, m_{p} = -\infty \\ m_{1} \neq 0, \ldots, m_{p} = 0}}^{\Sigma} \frac{|S(\varepsilon_{1}m_{1}, \ldots, \varepsilon_{p}m_{p}, 0, \ldots, 0)|^{2}}{(m_{1} \ldots m_{p})^{2}}$$

$$= \left(\frac{\pi^{2}}{3}\right)^{p-q} \sum_{\substack{m_{1}, \ldots, m_{q} = -\infty \\ m_{1} \neq 0, \ldots, m_{q} \neq 0}}^{\infty} \frac{|S(\varepsilon_{1}m_{1}, \ldots, \varepsilon_{q}m_{q}, 0, \ldots, 0)|^{2}}{(m_{1} \ldots m_{q})^{2}}$$

$$\leq \left(\frac{\pi^{2}}{3}\right)^{p-1} \sum_{\substack{m_{1}, \ldots, m_{q} = -\infty \\ m_{1} \neq 0, \ldots, m_{q} \neq 0}}^{\infty} \frac{|S(m_{1}, \ldots, m_{q}, 0, \ldots, 0)|^{2}}{(m_{1} \ldots m_{q})^{2}}$$

$$\leq \left(\frac{\pi^{2}}{3}\right)^{p-1} \sum_{\substack{m_{1}, \ldots, m_{q} \neq 0}}^{\infty} \frac{|S(m_{1}, \ldots, m_{q}, 0, \ldots, 0)|^{2}}{(m_{1} \ldots m_{q})^{2}}.$$

From here and from (22) we obtain

(23)
$$\sigma(j_{1},...,j_{p}) \leq \frac{3(3^{p}-1)}{4^{s+1}\pi^{2}3^{p}} \sum_{m_{1},...,m_{s}=-\infty}^{\infty} \frac{|S(m_{1},...,m_{s})|^{2}}{(\overline{m}_{1}...\overline{m}_{s})^{2}} \sum_{\varepsilon_{1},...,\varepsilon_{p}} 1$$

$$= \frac{3(3^{p}-1)}{4^{s+1}\pi^{2}3^{p}} \sum_{m_{1},...,m_{s}=-\infty}^{\infty} \frac{|S(m_{1},...,m_{s})|^{2}}{(\overline{m}_{1}...\overline{m}_{s})^{2}}.$$

We obtained the estimate (23) under the condition that $\{j_1, \ldots, j_p\}$ coincides with $\{1, 2, \ldots, p\}$. However, it is evident from the proof that it holds for an arbitrary subset of the set $\{1, 2, \ldots, s\}$.

From (14) and (23), using

$$\sum_{p=1}^{s} \frac{(3^{p}-1)^{2}}{3^{p}} \sum_{f_{1}, \dots, f_{p}} 1 = \sum_{p=1}^{s} \frac{(3^{p}-1)^{2}}{3^{p}} {s \choose p} = 4^{s} - 2^{s+1} + (4/3)^{s}$$

we obtain the estimate

$$(24) (T(\widetilde{X}))^{2} \leq \frac{3}{4^{s+1}\pi^{2}} \sum_{m_{1}, \dots, m_{s}=-\infty}^{\infty} \frac{|S(m_{1}, \dots, m_{s})|^{2}}{(\overline{m}_{1} \dots \overline{m}_{s})^{2}} \sum_{p=1}^{s} \frac{(3^{p}-1)^{2}}{3^{p}} \sum_{j_{1}, \dots, j_{p}}^{\Sigma} 1$$

$$= C(s) \sum_{m_{1}, \dots, m_{s}=-\infty}^{\infty} \frac{|S(m_{1}, \dots, m_{s})|^{2}}{(\overline{m}_{1} \dots \overline{m}_{s})^{2}},$$

where the constant C(s) is defined by Eq. (5). Obviously the estimate (24) coincides with (4). Thus Theorem 1 is proved.

It should be mentioned that Theorem 1 (with a different constant) has

It should be mentioned that Theorem 1 (with a different constant) has been proved first in [2], but with a certain inaccuracy in our proof. We express our gratitude to Professor V. Popov (Sofia) for drawing our attention to it.

From Theorem 1 for s=1 we get the following assertion.

Corollary 1. Let \tilde{X} be a symmetric finite sequence consisting of $M=2^sN$ terms in E=[0,1] and let $X=\{a_k\}_{k=1}^N$ be any finite sequence in E producing \tilde{X} . Then

(25)
$$T(\widetilde{X}) \leq \left(\frac{1}{2\pi^2} \sum_{m=1}^{\infty} \frac{1}{m^2} \left| \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i m a_k} \right|^2\right)^{1/2}.$$

We shall note that this estimate is precise. Indeed, if $a_1 = a_2 = \ldots = a_N = 0$ then \tilde{X} will consist of N zeros and N ones. Now from (25) we obtain

$$T(\widetilde{X}) \leq (\frac{1}{2\pi^2} \sum_{m=1}^{\infty} \frac{1}{m^2})^{1/2} = 1/\sqrt{12},$$

and from the definition of L^2 discrepancy we find that

$$T(\widetilde{X}) = (\int_{0}^{1} (\frac{1}{2} - \gamma)^{2} d\gamma)^{1/2} = 1/\sqrt{12}.$$

Therefore in this case (25) is an equality.

T. D. PROINOV 382

The following theorem is an analogue of Erdös-Turán-Koksma's inequa-Theorem 2. Let $X = \{a_k\}_{k=1}^N$ be any symmetric finite sequence in E^s .

Then

(26)
$$T(X) \leq \left(C(s) \sum_{\|m\| > 0} (R(m))^{-2} \left| \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i \langle m, a_k \rangle} \right|^2 \right)^{1/2},$$

where the constant C(s) is defined by (5). Proof. Let $X = \{a_k\}_{k=1}^N$ be a given symmetric sequence in E^s and let $\widetilde{X} = \{b_k\}_{k=1}^N$, where $M = 2^s N$, be another symmetric sequence in E^s which is produced by X. Then for every point γ in E^s we have $A(\widetilde{X}; \gamma) = 2^s A(X; \gamma)$. Therefore $D(\widetilde{X}; \gamma) = M^{-1}A(\widetilde{X}; \gamma) - \gamma_1 \dots \gamma_s = D(X; \gamma)$, and so

$$(27) T(X) = T(\widetilde{X}).$$

It follows from Theorem 1 that for the symmetric sequence \widetilde{X} will be valid the estimate (4). Now from (4) and (27) we get (26). Theorem 2 is proved. We proved that Theorem 2 follows from Theorem 1. It is not difficult to prove the inverse. Indeed, let $X = \{a_k\} = {N \atop k=1}$ be an arbitrary sequence in E^s and let $\tilde{X} = \{b_k\}_{k=1}^M$ be a symmetric sequence which is produced by X.

From (26) we shall have

(28)
$$(T(\widetilde{X}))^{2} \leq C(s) \sum_{\|m\|>0} (R(m))^{-2} \left| \frac{1}{M} \sum_{k=1}^{M} e^{2\pi i \langle m, b_{k} \rangle} \right|^{2}.$$

Using the notation (6) and (21) we can write

(29)
$$\frac{1}{M} \sum_{k=1}^{M} e^{2\pi i \langle m, b_k \rangle} = \frac{1}{2^s N} \sum_{k=1}^{N} \sum_{\tau_1, \dots, \tau_s = 0}^{1} e^{2\pi i ((-1)^{\tau_1} m_1 \xi_1(k) + \dots + (-1)^{\tau_s} m_s \xi_s(k))}$$
$$= \frac{1}{2^s} \sum_{\tau_1, \dots, \tau_s = 0}^{1} S((-1)^{\tau_1} m^1, \dots, (-1)^{\tau_s} m_s).$$

From (28) and (29) it follows that

$$(T(\tilde{X}))^{2} \leq \frac{C(s)}{2^{s}} \sum_{\tau_{1}, \dots, \tau_{s}=0}^{1} \sum_{m_{1}, \dots, m_{s}=-\infty}^{\infty'} \frac{|S((-1)^{\tau_{1}}m_{1}, \dots, (-1)^{\tau_{s}}m_{s})|^{2}}{(\overline{m}_{1} \dots \overline{m}^{s})^{2}}$$

$$= \frac{C(s)}{2^{s}} \sum_{\tau_{1}, \dots, \tau_{s}=0}^{1} \sum_{m_{1}, \dots, m_{s}=-\infty}^{\infty'} \frac{|S(m_{1}, \dots, m_{s})|^{2}}{(\overline{m}_{1} \dots \overline{m}_{s})^{2}}$$

$$= C(s) \sum_{||m||>0}^{\infty} \frac{|S(m_{1}, \dots, m_{s})|^{2}}{\overline{m}_{1} \dots \overline{m}_{s})^{2}}$$

$$= C(s) \sum_{||m||>0}^{\infty} (R(m))^{-2} \left| \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i \langle m, a_{k} \rangle} \right|^{2}.$$

We see that Theorem 1 is equivalent to Theorem 2.

In the case s=1, it follows from Theorem 2 that for any symmetric sequence $X=\{a_k\}_{k=1}^N$ in E we have

(30)
$$T(X) \leq \left(\frac{1}{2\pi^2} \sum_{m=1}^{\infty} \frac{1}{m^2} \left| \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i m a_k} \right|^2\right)^{1/2},$$

but from Koksma's equality (see [1], p. 110):

$$(T(X))^2 = (\frac{1}{N} \sum_{k=1}^{N} (a_k - \frac{1}{2}))^2 + \frac{1}{2\pi^2} \sum_{m=1}^{\infty} \frac{1}{m^2} \left| \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i m a_k} \right|^2,$$

which holds for any sequence $X=\{a_k\}_{k=1}^N$ in E it follows that

$$T(X) \ge (\frac{1}{2\pi^2} \sum_{m=1}^{\infty} \frac{1}{m^2} | \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i m a_k} | ^2)^{1/2}.$$

That inequality shows that in fact we have in (30) an equality.

Corollary 2. Let $X = \{a_k\}_{k=1}^N$ be any symmetric finite sequence in E. Then

$$T(X) = \left(\frac{1}{2\pi^2} \sum_{m=1}^{\infty} \frac{1}{m^2} \left| \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i m a_k} \right|^2\right)^{1/2}.$$

Of course, corollary 2 can also be derived only from Koksma's equality.

4. An estimate for the extreme discrepancy of symmetric finite sequences. In the following theorem we shall show that for symmetric sequences LeVegue's inequality (2) can be generalized for any dimension $s \ge 1$.

LeVeque's inequality (2) can be generalized for any dimension $s \ge 1$. Theorem 3. Let $X = \{a_k\}_{k=1}^N$ be any symmetric finite sequence in E^s . Then

(31)
$$D(X) \leq (C_1(s) \sum_{\substack{||m|| > 0}} (R(m))^{-2} \left| \frac{1}{N} \sum_{k=1}^{N} e^{2\pi i \langle m, a_k \rangle} \right|^2)^{1/(s+2)},$$

where $C_1(s)>0$ is an absolute constant depending only on s and $C_1(1)=3/\pi^2$. Proof. It is known (see [3], Theorem 4.2 and Corollary 1.2) that for any sequence $X=\{a_k\}_{k=1}^N$ in E^s the following inequality holds $(D(X))^{(s+2)/2} \le C_2(s)T(X)$, where $C_2(s)$ is an absolute constant depending only on s and $C_2(1)=\sqrt{12}$. Therefore

(32)
$$D(X) \leq (C_2(s)T(X))^{2/(s+2)}.$$

Now, if X is a symmetric sequence from (32) and from Theorem 2 we get the estimate (31) with the constant $C_1(s) = ((C_2(s))^2 C(s))^{1/(s+2)}$, where the constant C(s) is defined by (5). It is easy to verify that $C_1(1) = 3/\pi^2$. Theorem 3 is proved.

Finally, we shall remark that for s=1 the estimate (31) coincides with LeVeque's inequality (2).

REFERENCES

- 1. L. Kuipers, H. Niederreiter. Uniform 'distribution of sequences. New York, 1974.
 2. П. Д. Пройнов. О квадратичном отклонении симметричных сеток. Вестник. Моск. унив., сер. мат., мех., 1975. № 2. 41—47.
- унив., сер. мат., мех., 1975, № 2, 41—47.

 3. H. Niederreiter. Application of diophantine approximations to numerical integration Diophantine Approximation and its Applications (Proc. Conf., Washington, 1972). New York, 1973, 129-199.

University of Plovdiv Department of Mathematics Plovdiv 4000, Bulgaria